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Irred. Representation : I'y 3
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By = 3 (=J = 3t+5U +50W —2cos (65) vV/As)
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[W20a) = 15, ok 57F4,3>
= Co4,1 (|022u) + [0u22) — |20u2) + |220u) — [22u0) + |2u02) — [u022) — [u220))
+ Chonz (102u2) — [202u) — [2u20) + [u202))
+  Cooa3 (|2dun) — [2uud) + |d2uu) — |duu2) — |u2du) — |ud2u) + |uu2d) + |uud2))
o _ t(J+4t+U —2W + 2cos (05) vV Ae)
204—1 23
t(J =12t + U — 2W + 2cos (05) v/ Ag)
Cooa—2 =
3v2
— A3y + 3(t — 4(U + 8W)) Agg + 18 (2t2 + (U + 8W)t — 2(U + 8W)?)
Cooa—3 = TG

Nooy = 2\/2C2204,1 + Clyy0 +2C504 3



